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Warm Up Grade 8

Quiz Day

10 -12 minutes
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2 Find the surface areaofﬂlisﬂghtrecta_n%rui)arpﬁsm_ Side Eront Zﬁiiﬁ\
F om |j6m [ _]6m [ hom
A 15m 10m 15m
o A=Ixw A=lxw A=lxw
— 15m x 6m =10m x 6m =10m x 15m
- 90 m? =60 m’ = 150 m’

Total SA = 2(Top) + 2(Side) + 2(Front)
= 2(90m?) +2( 60m?) +2( 150m?)
= 180m? +120m? +300m?
=600 m?

3. The Drama Club plans to paint the outside walls of this hox to be used as a second level to their stage. Find
the surface area of the box

4m
m
13m
To Side Front
[ J7m [dam [ m
13m m 13m
A= | x W A=1lxw A= xwW
=13mx 7m =7m x 4m =13mx4m
- 91 m? =28 m? =52 m?

Total SA = 2(Side) + 2(Front)
= 2( 28m?) +2( 52m?)
= 56m? +104m?
=160 m?
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4. The 2 riangular faces of this prism are isosceles triangles with baselength 6 cmand height 12 em. Homework

Calculate the surface area of the prism_ A= x W A= xw . Solutions
ten =12.4 x 20 =12.4x 20
126 A = 248 cm? =248 cm’
12. 2.4
20 cm 20
6cm 6 20
20 A=1lxw

Atri = (bxh)/2 =6 x 20
= (6x12) /2 = 120 om?
= (72)/2
= 36 cm?

Total SA =2 Tri + rec + rec + rec
= 2(36) + 120 + 248 + 248
=72+ 120 +248 + 248
= 688 cm?

5. The diagram shows an open box in the shape of a right rectangular prism.
A square hole of side 5 cmis cut out of the front face.
What is the total surface area of the box? Show vour work

15 em

I To side front
|:R|18cm [116cm [ Ji5em
Scm e 1 5cm 18cm 16cm
I T _ A=1lxw A=l xw
- 18 cm A—lXW —18 16
hol?l_\_I = 15cm x 18cm _ reemxdoem - =16cm x 15cm

Cw = 970 om? = 256 cm’ = 240 cm?
=5cm x 5cm

=25 cm?

Total SA = 2(Top) + 2(Side) + 2(Front)
= 2( 270cm?) +2( 256cm2) +2( 240cm?)
= 540cm? +512cm? +480cm?
= 1532 cm?

1532 cm?-25 cm?
= 1507 cm?
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Volume

Volume is the amount of space an object occupies. It is measured in cubic units,
such as, mm>, cm®, m®, ...

How do you find volume?

http://illuminations.nctm.org/ActivityDetail.aspx?1D=6
®


http://illuminations.nctm.org/ActivityDetail.aspx?ID=6
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How do we find the volume of this rectangular prism?

Sometimes students say V=/x w X h, ,_l_
?"'\Sw\

Instead of using this, we will use

Volume = Area of a base x height i

First determine the base of the prism, then find its area, finally multiply this
area by the height of the prism.

Volume = 2 Yg80 m‘.\
= Area of Base =
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Find the area and show all work m?m
a)
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cm
= Yeem®

VO\“M(. s AB&S\ X l'lpv?tﬁ

= "‘SG\'\" X IBCM
= 6% em?

8 cm

7 \ol

H

18 cm

Abs:.ﬂ Lxw
= 28emX Ncn,
14 cm
28 cm

=39 emt

Nolume = Abase % H
392em* X [tem
=1 l)‘:SQ:cm3
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